Adda2417

. T e ey st @ wefg 82
(A) HHR (B) &
(C) ifsmn (D) TR
Which tribe is related to Lal Bangla? , ‘
(A) Kamar ,, (B) Baiga
(C) Bhunjia R (b) Pando
=0 <& H o e e o fem %7
(A) SN (B) whif
C) R (D) SR
Shrine of Chang Devi is situated in which district?
(A) Surguja (B) Koriya:
(C) Surajpur (D) Balrampur

Wmﬁmwﬁ%mm%mmmmmﬁaﬁmmm
g?

(A) el  (B) wui

(C) fava sufeardt faaw (D) SR gt

On which of the following days the State Government declared public holiday for
the preservation of rural culture?

(A) Hareli, Teej (B) Karma Jayanti
(C) Vishwa Adivasi Diwas (D) All of the above

mﬁvﬁﬁw maﬁm@wﬂ@m 1 IS we fewa T2

(A) 27 9 29 ¥R, 2019 (B) 29 ¥ 30 WX, 2019
(C) 27 ¥ 29 fg@=R, 2019 (D) 25 ¥ 28 ST, 2020,

When for the first time ‘Rashtriya Adiwasi Nritya Mahotsava’ was organized in
Chhattisgarh?

(A) 27 to 29 October, 2019 (B) 29 to 30 November, 2019

(C) 27 to 29 December, 2019 (D) 25 to 28 October, 2020
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W T & e el 9 frg g ST S &2

(A) FTS-Hell FAFR

(B) fufa fas wemsr

(C) =i | wicigs #1 ygen ¥R

(D) WIHTA HeHR |

For which reason ‘Chendru Mandavi’ of village. Garhbengal is known?
(A) Artist of Wood-craft

(B) Artist of Mural Art

(C) The First hero of Hollywood from Bastar region
(D) Artist of folk dance

et Forll 1 wom T fwe g -

(i) ST e Rt i G wfag onfn s e e @ 2
(if) ¥ﬁ‘ﬁﬁTﬁﬁaﬂaﬂmﬁ$?qu%ﬁnem

(A) 2w § ]

(B) =Fl e/ ¥

(C) %9 (i) ¥4 ©

(D) %ad (i) 94 ©

Read the following sentences and choose the correct option :

(/) Rajmata Fulwa Devi Kange is related to famous tribal personality Kahgla Manjhi.
(i) The real name of Sant Gahira Guru was Maheshwar.

(A) Both are correct

(B) Both are incorrect

(C) Only (i) is correct

(D) Only (ii) is correct

[4] TCQRP- 1



7. Frofafen = gafea @i
e L

(@) 3™ - () =@
(b) wwEA - (i) TR
(c) o - (i) WEA
(d) T - (iv) WRY
e fawe w1 w97 Hifmu—

@ b © @
(A @) Gy G O
B O @ @ @)
© @y @ @ @)
@ @y @ @ O
Properly match the following :

Festival Month

(@) Aamus - (/) -Chait
(b) Sarhul - (if) Kwaar
(¢) Navakhai - (iii) Sawan
(d) Dussehra - (iv) Bhadon
Choose the right option—

@ & ©© @
@) v i) @@
® @ @ @) )
© @ @ @ @)
O @ @) @O

B [5] CQRP- 1



gaﬁqﬁ‘aﬁm:
8. Frffan SRR ® w qer far g (Frem) & I

St
(@) RISt HRE -
(b) ifsmm .
(c) fogar -
(@) srggfem -
W& fawew =1 w7m wife—

@ @& (
@A O @ @
B) @) & i)
© @ @y
D@ @ @) 6

wer Frara g ()

(d)
(if)
(iv)
(iv)s
(i)

Match the following Tribes according to their Main Area of Residence (District)

(@)
(b)
(c)
(d)

Tribes

Hill Korwa
Bhunjia
Binjhwar -

Abujhmaria

Choose the right option—

(A)
(B)
©
(D)

@ (&
() (i)
(i) ()
Gi) (i)

@(Gv) (i)

(©)
(iv)
(i)
(@)
(0)

Main Area of Residence (District)
0 Balodabei’zaf-Bhatapara

(ii) Jashpur‘

(7ii) Gariyaband

“(iv) Narayanpur

(d)
(i)
(v)
(v)
(i)

[6] T




9. =1 wmai & m % woww ¥ gafem Ff

b e] THEIT
(@) F=RA - () - 4w
(b) TheEHA - (i) IRIGHT W
(c) TR - (iii) WUg
(d) TETw - (iv) o =mt =
TE fawey &1 w1 ifu—

@ & @© @

A O @ (v i)
B) @ @G0
© m O @ i)
@ @ GG ) O

Match correctly the names of the following Rulers with their Dynasties :

(@)
(b)
(c)
@)

Kanhardeva

Ruler

Skandvarman 1
Durgraj -
Harshgupta =

Choose the right option—

(A)
(B)
©
(D)

@ ©® ©
CROERG)
@) D) (i)
@ O )
Giy  Gii) (V)

()
(if)
(iii)
(iv)

(d)
(iif)
()
(iii)
0]

Dynasty

Nal Vansh
Sharabhpuriya Vansh
Pandu Vansh
Chhindak Nag Vansh

[7] CQRP-



10. TET YoSRI & 19 HIBHATTER T91RT :

11.

() vE e

(@) wigua (ggenE) feamt

(iii) fazge fema

(iv) i1 MU

e fre ghT—

(A) (), GiD), (i), (i)

(B) @), (@), (iv), (i)

©) @G, (1), (v), (i)

D) @), (), @), (@v)

Arrange in chronological order the names of Maratha Subedars :
(i) Keshav Govind

(i) Yadurao (Yadavrao) Divakar

(iii) Vithal Dinkar

(iv) Bhika Gopal .

Choose the right option— P
(A) (@v), (D), (@), (i) RV
B) (i), (i), (W), (@)

© (i), (@), (v), (&)

(D) (i), (@), (i), (v)

1933 # TS W WO 3 F AT AR T T TR i 3 o
e ST
(C) TA. TH. ARl (D) T, wy, &4
Name of the Principal of Rajkumar College who invited Gandhi::
hiji t :
in 1933 is : J1 to deliver a speech

(A) Smith Piers (B) T. A. Scott
(C) H. M. Larri (D) L. S. Canry

[8] -
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12.- BN & frefafen aaeR-wl A 596 g 3 gafaa s

WS-
(a) A
(b) 3w
()
(d) ¥ewEw
T fower SR
@  ®
@) Gi) )
® @) i)
© ) i)
@) Gi) @)

WS
(i) 3T TR
(if) Tgied FEIg
(iii) warera i
(iv) ¥ WG Ei
© @
(i) (iv)
Gii) (@)
(I
@ )

Match correctly the following Newspapers. of Chhattisgarh with their Editors :

(a)
(b)
(©)
(@)

Newspap
Suryoday
Alok
Prakash

er

Haihaivansh

Editor

- () 'Uday Prasad
- (i)' Yadunandan Prasad
= ''(iti) Kanhaiyalal Verma

i, (ii)) Keshav Prasad Verma

Choose the right option :

(A)
(B)
©
(D)

(a)
(iii)
(iv)
(iv)
(iii)

(b)
()
(i)
(iii)
()

© @
@) @)
@iy @)
@ G
@ 0

9] CQRP -
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el B ST Ry

v T T
13. 9Ra O e ¥ wie § 9 ST, 1942 B

gafera wifs

v e
(@) aHa ol - @ g
(b) TEREY SO - (%) T
(c) =g Q@ - (i) ST
(d) =it o8, ame - (iv) feremEaql
el fasea gfg—

@ @& @© @
(G2 A€ ) I ) N (77) B (1)
B) O G Gy i)
© @ @ G G
@ @ @ G i)
Match correctly the leaders who were ‘arrested during the Quit India Movement on

9th August, 1942 with their places :

Leader sestt vPlace ¢
(a) Yakub Ali Doz Durg
() Harnarayan Bajpai N (i) Raipur

(c) Laxmansingh Deshmukh
(d) V.Y. Tamaskar - (iv) Bilaspur

(iii). Bemetara

Choose the right option—
@ & @© @
A @ G @) (W)
B © @ (@ i)
© @ @ 6 G
@) @ @ @ )
B [10] S
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14. ‘i aRfeafs,  wfse oo, uft = e % SR sdeTg 3 wHied @
fra afie 9 aifad w1 a8 we= feme 2
(A) . sfe=w (B) f=g T
(C) fa. fawm (D) fa. T
“Due to geographical situation, social system, arrangement of land, the existence of
Zamindars in Chhattisgarh remained natural and inevitable.” Whose statement is this?
(A) Mr. Jenkins (B) Richard Temple
(C) Mr. Chishom (D) Mr. Agnew

15. fedia vl somn oridem & @ w1 A9 F g Tl TUER H hd FRwr fwa

T ?
(A) 12 ®Ed, 1932 (B) 16 TTE, 1932
(C) 19 =18d, 1932 (D) 13 S[H, 1932

When was Dr. Radhabai arrested while leading procession in the Second Civil

Disobedience Movement?
(A) 12 February, 1932 (B) 16 March, 1932
(C) 19 April, 1932 (D) 13 June, 1932

16. mﬁﬁﬁwﬁa%ﬂ@qw’ﬁmﬂmﬁaﬁ%?

(A) TS[erel T
(B) gHAe gt S
(C) o AR e

(D) weed e g
Who among the following is not associated with the establishment of National
Vidyalaya of Rajnandgaon?
(A) Rajulal Sharma
(B) Padumlal Punnalal Bakhshi
(C) Thakur Pyarelal Singh
(D) Baldev Prasad Mishra
B [11] CQrRP- 1




17. sitwTe onftfe s 2020-2021 A BTG A m

g TG A T

(@) Ffw (i) 0.75%
(b) (i)) 4.61%
(c) Em (iii) —5.28%
| :1

@ O (o |

A @ @)

® @ @) @)

© @ G @ _

@ @) @ 6.

The GDP of Chhattisgarh ¢stimated in the Economit; Sﬁrirey, 2020-2021 of

Chhattisgarh is :

Area Growth Rate

(a) Agriculture @) 0.75%
(b) Service (i) 4.61%

(¢) Industry (iil) —5.28%

Match correctly—

@ ® ©
@ @ G G
® O Gi) G
© Gy @Gy @O
® G @O

B [12] —




18. SwTE ¥ warfed ‘oA TG F Wy § Fe weEl w wge qe foshed g ¢
() THH ITW AR B EE ¥ T e
(i) 39 TN W R Tagaa sEfd ¢
(ii}) I8 W TN F TW 99 A 4§ e I @
ST ¥ | HIA-W FU T € ?
(A) () ¥ (i)
(B) (i) 3R (iii)
©) (i) 3 (i)
D) (), (i) 3R (i)
Read the following statements related to ‘Banas river’ flowing in Chhattisgarh and
choose the correct option :
() It originates from nllouﬁ‘tainsj of Manjhatoli
(i) Kotari waterfall is situated on this river
(i) It joins Son river near village Dembha
Which of the above statements are true?
(A) (i) and (ii)
(B) (i) and (iii)
(C) (i) and (iii)

(D) (i), (i) and (iii)

[13] CQRP- 1
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19. T # 9 @ gafaa wifa

(@) TR H THE () TSI
(b) ¥ orfdun W (i) ST

(c) fowrgm vt wta (i) &R

(d) N A F5 (iv) Tt

@ @& @© @
A O @ ) @)
B @ & @ G,
© O @ G i)
@ @ 6O Gy G

Match correctly the famous places in the State :

(a) Tomato Capital () Rajnandgaon
(b) Rice Research Institute | (i) Ludeng M
(c) Kishan Shopping Mall (i) Bastér

(d) Kosa Research Center (iv) Labhandi

@ @& © @
@A O @ @ W
® @ @ O @
© o @ @) G
® @ O G W

B [14] I -
CQRP- 1




20. HAT (A) : T 2017-18 F H¥ 3fg Fga FA (~10.90%) T FH M1
HIT (R) : 2017-18 F ¢ <vg @ & wren & 5@ ® 41
(A) 3 T (A) T FRU (R) T ¥ 1 o (A) BRI (R) T T FW T
(B) aﬁimm(A)qéamm(Rqu%wamq(A)mnm(R)ﬁ1vmzmﬁamﬂ%
(C) o (A) 3R FWr (R) < wea &l €
(D) SR ¥ | g T
Statement (A) : Very little agricultural growth (-10.90%) was recorded in the

year 2017-18.
Cause (R) : Many Districts were facing the problem of drought in 2017-18.
(A) Statement (A) and Cause (R) both are true. Statement (A) explains the

Cause (R)
(B) Statement (A) and Cause (R) both are true. Statement (A) does not explain the

Cause (R)
(C) Statement (A) and Cause (R) both are not true -

(D) None of the above

21, fyqum ad, 2019-20 H e fre 5 H weifus 9 go & gy @0 S T (FE
faurr & HFER) ?
(A) ieFiR-=i, el
(B) foremagR, Saeret
(C) HiR-=id, TR
(D) e, TREATH
In which district respectively the maximum and minimum paddy was procured in the
marketing year 2019-2020 (according to Agriculture Department)?
(A) Janjgir—-Champa, Dantewada
(B) Bilaspur, Dantewada
(C) Janjgir-Champa, Narayanpur
(D) Dhamtari, Narayanpur
B . [15] CQRP- 1




22, W fiaedt ¥ R § wiH-w wud wE T €7

23.

(A) % fued) siferpivm: wier faedt o ordan iU d
W 9 S e

(B) uE ficdt w=R figdt ¥ w1 SIS Bt ¢

(C) 39 firedt § @i = wen arfsk B ®

(D) W faedt ¥ @ =it °en oifue et ©

Which of the following statements is not true about Matasi soil?

(A) This soil is usually found at altitude higher.than that of Bhata soil and lower

than that of Kanhar soil
(B) This soil is less fertile than Kanhar soil
(C) Iron content is high in this soil

(D) Sand content is high in this soil

Frfafaa weAl 1 ey gfey ot w8t 3 gfHe ¢

() UG T W T 37.46 TG FUF INER © |

(i) SdETE 9 F GSDP ¥ waifuss dreH HfY & & ¥

(iii) TEETE TS B F B wEltiE & % sfwia @ T
HA-/HIT-9 HIT Tl &/ ?

(A) haa (i) T (i) (B) %3 (i) S (iii)

(C) e (i) T (i) (D) %34 (i)

Read the following statements carefully and choose the correct answer :

(i) There are about 37.46 lakh farming families in the Chhattisgarh State.

(i) Agriculture sector has the highest contribution in GSDP of the Chhattisgarh

State.
(iii) Agriculture is kept in primary sector in the Chhattisgarh State.
Which of the statements is/are true?
(A) Only (i) and (ii) (B) Only (if) and (i)
(C) Only (i) and (iii) (D) Only ()

[16]
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24. Trefafas o @ FH-/aE-8 F91 W& 8?

@ Wwaﬁwﬁaaﬂwﬁ%%aﬁmwﬁmwwﬂam
(i) STERIEH N H e TS YR W (WeH) A

(iii) foiva wfed gk @1 &1 = o

ﬂﬁﬁm?\ﬁ

(A) (), (i) 3R (i)

(B) (i) 3R (if)

(C©) 94 (i)

(D) ST ¥ q Hig &l

Which of the following statements is/are true?

(i) After weakening of power of Satavahana dynasty, Vakataka dynasty established its
kingdom |

(i) First king of Vakataka dynasty was Pravar Sen (First)

(iii) Vindhya Shakti was son of Pravar Sen

Choose the correct option::

(A) (i), (i) and (iii)

(B) (i) and (ii)

(C) Only ()

(D) None of the above

saTe % uF @ fee fRe W e 2021 F siifes W (Shem, @) wam fen

25.
T 82 N
(A) wIRuE S | (B) TR
(C) SHEa (D) @&
Which variety of paddy of Chhattisgarh has been granted the Geographical Index Tég
(G.1. Tag)?
(A) Badshah Bhog (B) Dubraj
(C) Jeeraphool (D) Tarun Bhog
B [171 | CQRP- 1



26. i T P w T g g e R S
(@) faurh el o |
(b) T el A
(c) Wi woel ¥
(d) TRt wt Rreerdl & day 3§
T T T e A A 7 W H G RIfTT—
(A) (a) 3R (b)
(B) () 3R (¢)
©) (), (o) R (d)
(D) (a), (b) 3R (c)

The State Government controls over urban local bodies.
(a) in legislative matters

(b) in financial matters

(c¢) in personnel matters

(d) in respect of citizens’ grievances

Select the correct answer from the codes given below-
(A) (a) and (b)

(B) ' (b) and (c)

(©) (0), (c) and (d)

(D) (a), (b) and (c)

B [18]



27. = g U T €1 TF B HwUA (A) SR T H HRO (R) HE TR
HAT (A) : TR fm ww fakmd &9 qw SAEEn: S 9 TR OH 7fed
fe s ¥
WRUT (R) : &S TR &1 TG TG 37cdd Wfeed Ypfa o1 gran ¢ |
S9E @ gEaeEt & ded § Frefafga #f ¥ wiF-w W& 22
(A) %ﬂ'-ﬁ'W(A)amw(R)ﬁ%awaﬁm(A)waﬁWW(R)%
(B) i wE (A) WU FRU (R) WE § W HUA (A) F W TEFT FLA (R)
T R
(C) F¥A (A) W&l § Wg HRW (R) T ©

(D) ®¥H (A) Tod § g SR (R) T T

In the following questions, there are two statements. One is labelled as Assertion (A)
and other is labelled as Reason (R) :

Assertion (A) : Municipal corporations are formed in big cities having a definite

area and population.
Reason (R) : Urban administrations of big cities are very complex in nature.

In the context of the above two statements which of the following is correct?

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct explanation

of Assertion (A)

(B) Both Assertion (A) and Reason (R) are true but Reason (R) is not correct

explanation of Assertion (A)
(C) Assertion (A) is true but Reason (R) is false

(D) Assertion (A) is false but Reason (R) is true

[19] CQRP- 1



28. WiauM & 7441 weium sifufrm, 1992ﬁﬁqﬁﬁmwmmwp
() TRufae wfufaar
() o wfufyat
(7ii) WEMR 3TES wfhfa
(iv) TSen smaeFr wfiufy
e T T F2 1w w gd s giie—

(A) () 3R (v
B) (), (), (i) R (iv)
(© (), i) ¥R @)
(D) @), (i) 3R (iv)
Which of the following has been provided in the 74th Amendment Act, 1992 of the
Constitution?
() Municipal Committees
(7i) Ward Committees
(iii) Metropolitan Planning Committee
(iv) District Planning Committee -
Select the correct answer from the codes given below—
(A) (i) and (iv)
(B) (), (ii), (iii) and (iv)
(©) (@, (i) and (iv)
(D) (i), (iii) and (iv)




29. Tu faufas @ wefua g 1 gafea wifag :
(@) T ¥ faufae &1 T (i) oTI=R 178

(b) faum wwr § sreas qon IuTeAd (il) IATT 199
(c) TE=l ¥ AqT-M (iii) 3T 168
(d) ‘foa fadas' ot aRvm (iv) *TT=T 195

@ & o @
a O G @) ()
@ @ @ @ (@)
© @ @ @ )
D) @ @ @ W)

Match the articles related to State Legislature :

(a) Constitution of legislature in States

(b) The Speaker and Deputy Speaker
of the Legislative Assembly

(c) Salaries and allowances of members

(d) Definition of ‘Money Bills’

@ & ©© @

@A @O @ G (@)
B @ @ @ )
© @y @ Gy @)
Oy Gy @) @ @)

(i) Article 178

(i) Article 199

(iii) Article 168

(iv) Article 195

B [21]
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30. Trafafen & § sh-qat-g qm v gafea 8 7

(a) Wﬂﬁmﬁ@’lﬁ‘gﬁaﬁm _ ot e T

(b) vYEmIT TS wien _ g o Ed

(c) vamm ok wewr ¥ WAy wa. <. A
H w1 g

(@) v e T s 3 _ S % A T
FFA % fore wores o

Fe :

A) (a), (c) 3% (@)

(B) =@ (b)

©) (@, (b) ¥R ()
(D) (@) 3R (b)

Which of the following pairs is/are correctly matched?

(@) Rationalisation of Panchayat Statistics — V. R. Rao
(b) Panchayat Raj Training — ...A. 8. Trivedi
(¢) Working Group on Panchayats and — . S. D. Mishra

Co-operative

(d) Administrative Arrangement for -  G.K.V Rao
Rural Development and Poverty

Alleviation Programmes
Code :
(A) (a), (c) and (d)
(B) Only ()
(©) (a), (b) and (c)
(D) (a) and (b)

[22) — ——




31. R w fw M) T B (A) 3R G W FO (R) e R
W (A) : Foren =ty frd &1 W e =t sfuER g
HAUT (R) : Fen =i % o =fes w6 s S R S wfwe ¥
S W o % o wft oy = % T wddsht wiw oft
B ©
St @ Tl & wed # FroAfafan § @S- @@ #2
(A) Tl YT (A) TU1 RO (R) Tt & a1 HoF (A) B GE WL FRO (R) 2

(B) THI ®¥F (A) 91 &R (R) W&l § a1 FHU (A) & €& TWEHFT FRO (R)
T/

(C) F¥F (A) W& ¥ W SR (R) T &

(D) FE (A) Told § g FRU (R) WEl §

In the following questions, there are two statements. One is labelled as Assertion (A)

and other is labelled as Reason (R) :

Assertion (A) : The District Judge is the highest judicial authority in the district.

Reason (R) : The District Judge has both judicial and administrative powers.
He has also supervisory powers over all the subordinate courts in

the district.

In the context of the above two statements which of the following is correct?

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct explanation

of Assertion (A)

Both Assertion (A) and Reason (R) are true but Reason (R) is not correct

(B)

explanation of Assertion (A)

(C) Assertion (A) is true but Reason (R) is false

(D) Assertion (A) is false but Reason (R) is true

[23] CQRP- 1




| e ®
32. ww%wﬁaﬂm%m@ﬁmﬁqﬁﬁw S
(A) TrSFT 3 (B) A '
C) e (D) e
: the work of
The main force forming the principles of the procedure fargtie State
Government is :
(A) Planning Commission (B) Minister
(C) Chief Minister (D) Secretariat
33. ﬁ%awﬁqm%@aﬁw(maﬂtiﬁ(ﬁaﬂm(mww%:

N R mpm—— 7 B LA L
HRT (R) : it W § el S e ¥ fa fafies SaRaitae T e
I Q@ qae % wad § frefafed § § wE-w @ €2
(A) S O (A) @O FRO (R) GE § A1 BEA (A) H W TR FA (R) ¥
(B) TN wEH (A) TN FRU (R) W § W HUA (A) H Vel TLHT FRU (R)

T/ T
(C) ¥ (A) T § Wg &R (R) e ©
(D) ®¥ (A) T & I FRU (R) W @
In the following questions, there are two statements. One is labelled as Assertion (A)
and other is labelled as Reason (R) :
Assertion (A) : The courts are barred from enquiring into the advice rendered by

the ministers to the Governor,
Reason (R) : There is no provision in the Indian Constitution for the system of
legal responsibility of the ministers in the States
In the context of the above two statements which of t} oy
. 1¢ following i 9

(A) Both Assertion (A) and Reason (R) are true anq Reason (;;v.mg 1s correct? 4

of Assertion (A) 1s correct explanatl
(B) Both Assertion (A) and Reason (R) are trye |

explanation of Assertion (A) ut Reason (R) is not correct
(C) Assertion (A) is true but Reason (R) is falge
(D) Assertion (A) is false but Reason (R) is true

B
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35,

36.

@ﬁqanl%dlmﬁmmmmﬁm%7

(A) =Ren ®
© (D) weRY™
e district, the major portion of the Chhuri hills s distributed?
el Kot (B) Mungeli

(C) Bilaspur (D) Kabirdham

WWWWW?&W 2019-21 & AR BTG § FHFA yorar w
(TFR) =1 ¥ ¥ faH )

(A) 1.8

B) 2.0

©) 2.2

(D) 24

What is total fertility rate (TFR) in Chhattisgarh as per Fifth National Family Health
Survey, 2019-21?

(A) 1.8
(B) 2.0
) 22
(D) 2.4

ﬁmmawmw@ﬁm%mmmmmwm fag ok o9
T/ Adl & RS § ? o

(A) fredArE (B) ufem

(€) (D) <™RTA

Which of the following archacological sites is located on the bank of river Mahanadi

and has temples/monuments of Buddhism, Hinduism and Jainism?

(A) Shivrinarayan (B) Rajim

(C) Sirpur (D) Champaranya

[25] CQRP- 1




37. HER T 1 ST A Fal ¢ 7
(A) Serdian TErSt
 (C) H¥HI HR
Where is origin place of Malger river?

(A) Bailadila hills
(C) Keshkal valley

38. mmmm%mmﬂﬁﬁm%?wm=

(B) Abujhmar hills
(D) Jhiram valley

(a) it dive . () fear
(b) STRIH (i) fae
(c) . . s (iii) e
(@ I dmue (iv) SIS

@ & o @
a) @ @y @ 0
® @ G @O )
© o @ @ a6
® O @ ) W)

The following cement factories are situated in which Tahsil of State? Correctly

match : _

(a) Shree Cement (/) Ahiwara

(b) Ultratech (i) Tilda

(¢) J. K. Laxmi - (ii)) Simga

(d) Century Cement (iv) Balodabazar

@ b ©o© @
A)  @v) @) () ()
®) (v @) @ G)
© @ @G @Gv @)
O G @) @) )

B | [26] _—
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T F W WUSR T i i

e woer
(@) ¥
(b) TA-TeR
(c) HrW
(d) TR

@ @& (o
(A v @Gy i)
B) @) v @)
© @) Gy v
() I O B (1) I (i)

Match the mineral deposits and areas found 'in Chbhattisgarh :

Mineral Deposit
(a) Diamond
(h) Limestone
(c) Manganese

(d) Garnet

@ G (©
(A) (v)  Gi) (i)
B) @iy ) ()
© Gy @y ()
D) B @ W

&=
(i) wmRNm
(if) ST
(ii) g
(iv) O
(d)
()
(i)
(?)
(iii)

Area
(/) Latapara
(i) Jangda
(/i) Jhipan
(iv) Parsoli
(d)
(/)
(if)
(/)
(iii)

[27]

CQRP -

1



. AT
40. -1 Reg g g g g e ¥ g

(a)
(b)
(c)
(@)

(A)
(B)
©)
(D)

-1
(7<)
i
EEILS
Sish
Fal
(@ (b
(i) @)
(v) (i)
i) (iii)
@ @)

(c)
()
(i)
)
()

geit-11

(ST wWIe)
() g
(i) HHU Y8R
(iii) TG RIS
(v) TR

(@)
(i)
(s
(v)
(ii)

Match the following river given in List-I with the place of origin given in List-II :

(a)
(b)
(c)
(d)

(A)
(B)
©
(D)

List-I
(River)
Mand
Banas
Jonk
Kelo
(@ (b
(i) (@)
(iv) (i)
(i) (i)
(0 ()

(c)
(iv)
(i)
()
(iv)

List-II
(Place of Origin)

(/) Ludeng hills
(i) Sonbera plateau
(7ii) Devgarh hills

(iv) Mainpat

(@)
(i)
(0
(v)
(iii)

[28]
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41. frerfafen ‘SHeen’ #1 3w AR
e % go, sfe wem e
T T T, WAy frarg
(A) wadm (B) W=
(C) 3remi/Siraren (D) ¥
Answer the following ‘Janaula’ :
He da & g, sfs wew o)
T T Fh TR, WA g g
(A) Kite (B) Air

(C) Soul/Spirits . (D) Sun

42. =@ ‘T TR o § Sen W €2

el 3| ford -
(A) o S ¥ g (B) hE H @
(C) oifm faoia (D) w&wa B

In what sense is the presented ‘Hana’ spoken?

Write the correct answer :

“d foer wer foem”
(A) To ask three people

(C) Final decision (D) To agree

(B) To defer judgement

@]

[29]
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43. TEE ‘T’ foRw 9w g &0

44.

W&l IR fog -

"Rl W F Few o,

S T = R wEn
(A) v S (B) o 1 e T A
(C) waTRa®E &M (D) i g

What does the presented ‘Hana’ signify?

Write the correct answer :

"B F F pewl o,

U Tam SRy e
(A) To be powerless (B) a hapless not getting any help
(C) To be careless (D) To be blind

1 B Hehell € ? 3 ‘3N’ W 9 R W& IW F1 fafsq ==y
“w sfea, S W g o wA!
(A) T ‘ (B) =
(C) = (D) 3T ¥ § 7 ot
What may be? Understand this ‘Janaula’ and mark the correct answer :
“uw gfean, & W g &1 F wET
(A) Coconut (B)  Wood-apple

(C) Egg (D) None of the above

[30]




45. T e frw men @ wayw 2
g s wRm S S
IR eI 1 T Y
U AW F IS W H
fom e & iR % W
T Y™ & IR Y
fam fog & ol s % L
(A) Haen T
(B) afem e
©) Fa FN
(D) T s
From which story is the following poem quoted?
R S S R Y W
o el & HIeH g 5
fom < & W % =St
&0 qT F IR TR
forr fagpd % W@l @ % L
(A) Kanvala Rani
(B) Ahiman Kaina
(C) Phool Kunwar

(D) Phool Baman
B . ‘ [31] CQRP- 1




46. =1 = frma 22
A SR Haw ST R,

TS 39T HTM HH |

(A) TR Jwg

(B) TF=< ®iv

(C) T wee

(D) Sl Q@ it

Whose composition is the following?
“HRI T8 A 3 %,
TS IAMT KT F4 |
4 A1 7 h dhd fhEE],
R?mﬁmﬁ%"

(A) Rameshwar Vaishnav

(B) Mukund Kaushal

(C) Sushil Bhatt

(D) Dr. Dadulal Joshi

B [32] o




47. ‘E@m‘;ﬁ' Tam > S‘W(W'?Wvﬂﬁww%@?
@) wmﬁ‘@m17ﬂ§,2oz1ﬁﬁn§

(i) Wﬁw%ﬁm%mmww%mmwawaumg@
I WEF T}

(iif) wﬁm%mqaﬁwﬁgm—wmaﬁm%ﬂm(%mpmﬁvsm
ST fFar s g @

(A) (@), (i) 3R (i)
(B) (i) 3R (i)
(©) () iR (iii)
(D) waa (i)

What is/are true about ‘Mukhyamantri Vriksharopan Protsahan Yojana’?

(i) This scheme was started on 1st July, 2021
(ii) Principal Chief Conservator of Forests is the Chairman of State Level Monitoring

Committee formed for the implémentation of this scheme

(iii) Under this scheme, for installation of High-tech Nursery for tree plantation,
CAMPA fund can be utilized

(A) (i), (if) and (#id)

(B) (i) and (ii)

(C) (i) and (iii)

(D) Only (ifi)
CQRP- 1
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48. TSI TRV YRR, 2021 ¥ ey § Frefafaa w1 gafad Sl

(a) TETeE T (i) FE dE
(b) o W a9 wIE (i) g e

(¢) ¥R AR fife qwenR (i) SR FER GO
(d) o S (iv) gl wea gl

@ b)) (o) (d)
A &) G (i) Gv)
B O G vy (i)
€ Gv) Gi) (i) ()
(D) (7) (€20 B 077) B (30
Match the following in reference to Rajya Alankaran Purashkar, 2021 :
(a) Gundadhur Samman (?)  Kumari Rohani Sahu
(b) Dr. Khubchand Baghel Samman (1) Mukesh Chaudhury

(c) Saheed Veer Narayan Singh Award  (iii) Janki Prasad Pulast

(d) Minimata Award - () Dr. Kalpana Deshmukh

(@) (b) (©) (d)
A () iy ) ()
(B) () @iy (iv)  (iif)
©)  Gvy  Gi) (i) (1)
D O @ aGE) ()

[34] TS =
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49. Frefafaa 4 € ®H-§ 3w v gafaa & €2

TE AT wafua faumr
() HER AhEH - = faym
(i) e W e _ Yurga we o fam faam
(i) TEaHs gug e ~  wfgen vd o fowm faum
v(i\') TRY =G A ~ TR g9 fgum
(v) e fawm g - fy fauym

A @ Gy i)y )
B) @ ) () (id)
© @) @y v O
(D) Gy vy ) (9)

Which of the following pairs is not matched correctly?

Important Scheme Related Department

(/) Sanskar Abhiyan - Health Department

(ii) Mukhyamantri Swavalamban — Panchayat and Rural Development

Yojana Department

(iii) Mukhyamantri Suposhan Abhiyan - Women and Child Development

Department

(iv) Tirath Barat Yojana - Urban Administration Department

(v) Samarthya Vikas Yojana - Agriculture Department

A () Gy i) )
® @ » O G
©) Gy Gy @) )
(D) (i) (iv) (v) (/)

[35] CQRP- 1
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50. wieTg anfie waw, 2020-21 % @R Pt A w Afgensll Bl TE < &,

< ¥ wed WU H g .

(A) SREAT > TSHIRHE > HERIHE > ARG
(B) Wﬁa>m>m> ARFUG
(C) HNET > ISR > TRAUR > HEEHS

(D) TSHIGHE > SRl > AREUR > TEMHE

As per Chhattisgarh Economic Survey, 2020-21, arrange the following districts in

decreasing order of Literacy Ratio of female :

(A) Korba > Rajnandgaon > Mahasamund > Narayanpur
(B) Rajnandgaon > Korba > Mahasamund > Narayanpur
(C) Korba > Rajnandgaon > Narayanpur > Mahasamund

(D) Rajnandgaon > Korba > Narayanpur > Mahasamund

B [36] caQrP- 1



51. ﬁmmﬁaﬁwvﬁﬁwaﬁ:
®IT-1 2 1907 F iy aiftfes siferdem #) stersm wg e Hiw 3 W oo
FETIL ;79 fyavm § wilw @ @ (W R @ T gl § faafea @
FAA-IL @ 1916 F affer arferdem & F09 ¥ 2 e, wem et i 7w of w1 foer @
TN 38 AfyavE St oemeran wad. famr 3

(A) F¥F-1, 11, 11 9t wet &
(B) =w¥A-I, 11, 111 9t 7ofg &
(C) =ua-I, 11 W&t € forg wFem-111 e ©

(D) w¥A-1, 11 e § foeg wem-111 9t ©

Choose the correct option after reading following statements :

Statement-I  : In 1907, Congress’s Annual Session was presided by Rash Behari

Ghosh -

Statement-II : In this session, Congress got divided into two groups (Moderates

and Extremists)

Statement-ITI : In Congress’s Annual Session of 1916, two groups (Moderates and

Extremists) got united. This session was presided by S. P. Sinha
(A) Statement-I, II and III all are true
(B) Statement-I, II and III all are false
(C) Statement-I, 1I are true but Statement-I11 is false

(D) Statement-I, II are false but Statement-III is true

B A [37] CQRP- 1




52. f7m woet Y wge wd fawew w1 A W

FEA-1  : sfEe yRd ST @t e w1871 ® feRAr T

FHAT-I1 : T 1881 T T AU Tk frafad Sreen o9 T

HAT-IL : 1900 & 1940 % w9 40 wiedl % o wed o T SR
10% & sgt 18% &

(A) Fua-1, 11, [ gf wet &

(B) Faw wyw-1 @& ¥

(C) o weH-11 et &

(D) Faa weH-111 et §

Read the following statements and choose the correct option :
Statement-I  : First All India Census was attempted in 1871

Statement-II : From 1881 onwards decennial censuses became a regular feature

Statement-III : In forty years from 1900 to 1940, urban population increased

from 10% of total population to 18%
(A) Statement-I, II, III all are true
(B) Only Statement-I is true
(C) Only Statement-II is true

(D) Only Statement-III is true

[38] CQRP -
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53. T THIST @M, 1953 % wad § et Forll W foram w0t gy W fowed O ¢
FITL : Sfew o orll, ¥ . TR iR TeEy o Ten T A
FET-IT SN ¥ wrarg ikt & favem o1 gmedA fen

HAT-I : 69 | w9 T Gfeq i, 1956 % EA 14 T T 6 % A 8 AT
by

ST § A HH-9/59-Y Fom @t /82
(A) 1,11 3R 111

(B) 13RI

(C) a1

(D) I 3R III

Read the following statements with reference to State Reorganization Commission,

1953 and choose the correct option :

Statement-I  : Justice Fazl Ali, K. M, Panikkar and Hridaynath Kunzru were its

member
Statement-II : Commission supported the splitting of Bombay and Punjab

Statement-III : As per State Reorganization Act, 1956 passed by Parliament,

14 States and 6 centrally administered States were made

From the statements given above, which is/are true?

(A) 1, II and III
(B) Iand Il
(C) Only I

(D) I and I

B [39] CQRP- 1




54. m%ﬁg&mmmmmﬁ?mﬁ

FA-T/HA-8 T

e B/¥7?
-1 : A URA F 169 qET A o |
HUA-11 :émww@a@ﬁuwwmmﬁﬁmﬁﬁaﬁm%

FHUA-II1 : 37 Frgfe fem d@sfar gt 4 &1 o6

SWH ¥ ¥ HH-W/HH-¥ HeF weEl /8?2

(A) 1, II 3R I

(B) 13RI

(C) 13RI

(D) w&a 11

Which of the following statements is/are true about previéus Chief Justice of India,
Yashwant Vishnu Chandrachud?

Statement-I : He was 16th Chief Justice of India

Statement-II : Till date, he is the longest serving Chief Justice of India

Statement-III : He was appointed by Neelam Sanjiva Reddy

From the statements given above, which is/are true?

(A) I, II and III

(B) I andII
(C) Iand III
(D) Only II
55, Had %u Iafy & fau yRd & &I =AY wiE 92
(A) T T (B) . TR wrg
(C) TN dectd YeATdeh (D) 9 RE fig
Who was the Chief Justice of India for the shortest duration?
(A) Rajendra Mal Lodha (B) S. Rajendra Baby
(C) Gopal Ballav Pattanaik (D) Kamal Naraip Singh
B [40] —
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56. 449 WlAUH HeuA % Wy § T T @D 2
(A) T& HEIEE S WHR (1977-79) T A1 T o

(B) ¥ Rd 424 wfaum deiem § wew@ fwa T

(C) 39 UMM ¥ gr veeh W) g T R T R agufa s dfnisd & g
% fouda # & w== ww

(D) 39 UEIUM ¥ gR1 URAR W @ q@ qe HEHST % gEE H GHder % o aod
IS THA ¥ S q o WqR T ¢

What is not true about the 44th Constitutional Amendment?

(A) This amendment was brought in by Janata Government (1977-79)

(B) With this constitutional amendment, changes in 42nd Constitutional Amendment
was made

(C) Through this amendment first time it was made clear in Constitution that
President cannot act against the advice of Council of Ministers

(D) As per this amendment President can return the advice of Council of Ministers
for reconsideration as many times;as he want till he is satisfied

57. =fe el ROl @ WRa ¥ Tl @ ettt ¥ Swrgata wgaf v % wE w1 e
= 3, 9 39 ol ¥ Wy § A-FU/HA-§ BT Wl §/€ 2
(i) =9 ety H STl U9 Tl % w9l o= @

(if) wﬁa%mm@ﬁﬁvgqﬁméﬁaﬁ@n
(iif) afz =9 oTafy H STWER @S © <4 §, 9 YRa % qed AR T § 9

F1 Tagd ®al
(A) (i), (if) 3R (iii) B) (i) iR (ii)
(C) (i) ¥R (iii) (D) Faa (i)

If Vice-President of India has to discharge the duties of President of India in his
absence due to some reasons, then what is/are true for such duration? '

(/) In this duration, Vice-President holds the post of Chairman of Council of
States

(ii) In this duration, Vice-President will get the emolument of President

(iii) If in this duration, Vice-President resigns, then Chief Justice of India will perform 1
the duties of President of India :

(A) (i), (if) and (iii) (B) (i) and (ii)
(C) (ii) and (iii) (D) Only () ]
B [41] . CaRP- A




58.

59.

ﬁmmm%mwﬁmm@nﬁmﬁmwﬁﬁaﬁq—mmﬁ

-9 W& e ? | g oy
(?) @?ﬁﬁmwwmmﬁaﬂaﬁ,ﬁ?ﬂﬂﬁmawwﬁmwm ¥

fo wr= & |
(ii) w&ﬁﬁmﬁrﬁwmmmmmqmaﬂawm%ﬁwm%

(iii) g W ¥ fow SR WAl ¥ o1 wewl @ uh-oeal (1/6th) i YA (PRw)
T =fey

(A) (), (if) 3R (iif)

(C) (i) HR yii)

Which of the following statements is/are true in reference to the joint sitting of

(B) (i) 3R (i)
(D) T ¥ wI &

Parliament for passage of bill?
(/)  Provision for joint sitting is applicable for ordinary bills, financial bills and
constitutional amendment bills

(7)) In no situation, Deputy Chairman of Rajya Sabha can preside over the joint

sitting

(7ii) Quorum of 1/6th of the total number of members of both Houses to
be maintained for joint sitting

(A) (i), (i) and (i) : (B) (¢) and (i)

(C) (i) and (/ii) (D) None of these

ﬁmﬁﬁmwﬁaﬁmmﬁmmzﬂ%amamﬁrﬁ%mmm%?
(A) T I (B) 3fifeem

(C) #RE@Te 0
From which of the following States, maximum number of scats are reserved for
Scheduled Tribes in Lok Sabha?

(B) Odisha

(D) Madhya Pragesh
- carp- 1

(A) Utiar pradesh

(C) Jharkhand




60. Pt % ¥ F-h wiefr whem 3 on o o 32

61.

(A) IS =1 o sifiemfar Wt afafy

(B) Vel frew werd wff

(C) =1 =it wiafy

(D) =Eree T e sheamr wramdt wfif

Which of the following Committees does not come under the jurisdiction of Lok
Sabha?

(A) Committee on Social Justice and Empowerment

(B) Committee on Urban Development

(C) Committee on Labour
(D) Committee on Health and Family Welfare

WRATE SEE 998 (IPG) & &= § ®H-wv#H-8 wom det 2/8?

() 9% U @AW geen 11 o

(i) FHE & Yo 9 THH S o7 Hhd €

(iff) TATRGHT T IUILAL T TSTGAT HT STGHI T8 & T (ex-officio) IUEAY Bia
g

(A) (), (i) 3R (i) (B) (i) 3 (ii)

(C) %= (i) (D) ke (iii)

In reference to Indian Parliamentary Group, which of the following statements
is/are true?

(/) It is not an autonorous body

(ii) Former Members of Parliament can become its member

Deputy Speaker of Lok Sabha and Deputy Chairman of Rajya Sabha are its

(iii)

ex-officio Vice-Presidents
(A) (i), (ii) and (ifi) (B) (i) and (ii)
(C) Only () (D) Only (iii)

[43] CQRP- 1




62. =1 = wife W @1 o o ¥ o F Wy W@ faee w

& e W

(a) @G

(b) T AR A=

() =Eimg

(d) TRU R TR Toel

(@ (b)) (o
A @ @) i)
B) @Gv) Gi) (i)
© (v) @G (i)
(€5) B ) B (77) B (/)

Match the following Union Territories with their years of creation :

Union Territories

g ad &=
(i) 1961
(i) 1966
(iii) 1962
(iv) 1956
@ .
(iv)
)
0
(iv)

Years of Creation

(a) Lakshadweep (i) 1961

(b)) Daman and Diu (ii) 1966

(¢) Chandigarh (iii) 1962

(d) Dadra and Nagar Haveli (iv) 1956
@ B (© (@

A @ @ @@y )

B) @ @) G )

C€) () Gy @iy @)

®) O (iii) ()  (v)

[44]
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63. T el F wed § wi-m - e /%2
() YAF @ fren viog § 30 wewm B9 ¥

(if) ST e wRwg & 24 v waew & g7 T 9 ¥ qen 99 6 ToTwe GRS
B ¥

(i) 39 & @ el § R gog g i@ weE e PRfm w0 @ aifusR
TR & 99 &

(A) (), (i) 3R (i)

(B) (i) 3 (iii)

(©) (@) 3R (if)

(D) e (i)

What is/are true in relation to Autonomous Districts?

(/) Each Autonomous District Council has 30 members

(i) 24 members of Autonomous District Council are elected via voting and rest 6 are

nominated by Governor

(iii) Rights to direct the Acts passed by Parliament of India in Autonomous Districts
of Assam lies with Governor

(A) (), (i) and (iif)

(B) (i) and (iii)

(C) (i) and (i)

(D) Only (1)

B | [45] CQRP- 1



64.

65S.

fam e & w=ol § w-w -8 W@ V¥?

() oMY FA 5 TeH B €

(i) ST § FH-Q-FH TF T T B A ghw B b1 I LA AL

(iif) 3 w1 ey A Frgaa 7l fehan s e

(iv) 3TN & WYH 3eA8l . TUMH 9

(A) (@), (i) R (iv) B) (i), (if) R (iii)

(©) () R (i) (D) = (i)

What is/are true in reference to the Finance Commission?

() There are total 5 members in Commission

(ii) At least one member of Commission must be Judge of High Court or Supreme
Court

(iii) The Chairman of Commission cannot be reappointed

(iv) First Chairman of Commission was K. Santhanam

(A) (i), (if) and (iv) Tt Nl B

(©) (@) and (iii) - (D) Only (i)

=1 4§ sF-9 79 981 @i © 2

(A) §ga W@ - T

(B) o=+ W@d - I

(C) AT Whic Y@ - FarR™

(D) =Y 3= @4 - M 0, HIerhrm

Which of the following is not the correct match?

(A) Central Railway - Mumbai

(B) Western Railway - Churchgate

(C) North Frontier Railway - Prayagraj

(D) South Eastern Railway - Garden Reach, Kolkata

[46] CQRP -



66. SNMTHI—2020 ¥ raryy T HF-91/ -9 &l /8 ?

67.

() RA /121 Raenfedt 3 siefimr—2020 § feea fomn

(i) ¥E R et F Freiiend w1 ach ofeen faefed @ den qeu fawted &
R o

(if) RT3 Fo 18 B F o foran

(A) (), (i) 3R (iii) (B) (i) 3R (iif)

© (@ 3R i) (D) e (i)

In relation to Olympics—2020, what is/are correct?

(1)  From India 121 players participated in Olympics—2020

(if) From India number of female players qualified in Wrestling was more than male
players

(#7i7) India participated in total 18 sports

(A) (), (i) and (iii) (B) (i) and (iii)

(C) (i) and (ii) (D) Only ()

et S gAied ) ST YR EF % 9 1 Femues § we (S Tl OE
geTl, 98 Wad Usd W) :

(A) % o, fraeed, ZUE. i, siefo i

(B) foraered, e 3iH, F.0d. 3, e it

(©) fam=ded, 4.To. aﬂﬁq,ﬁ%—nraﬂﬁﬂ,a@%maﬂﬁw

(D) sffeferm o, e o, fomiaed, gud. 3

Arrange the following Tennis Tournaments in chronological order of their starting

. years (one which started earliest, will come first) :

(A) French Open, Wimbledon, US Open, Australian Open
(B) Wimbledon, French Open, US Open, Australian Open
©) Wimbledon, US Open, French Open, Australian Open
(D) Australian Open, French Open, Wimbledon, US Open

1



68.

69.

70.

GNU iiqtfén faey & wmary o 1 wet @t €72
(A) ¥9H1 $a w1 ‘GNU’s Not Unix’ &

(B) Tl Yoot fme w7 @t ol

(C) I® T T i wiweaw ¢

(D) 9% Unix % @Y widifesa & €

What is not true about GNU operating system?
(A) Its full form is ‘GNU’s Not Unix’

(B) It was started by Richard Stallman

(C) It’s an open source software

(D) It is not compatible with Unix

fediees feTaa oif® wfdw (DDoS) 3% 1 §?

(A) T FgR 1 (B) T WIEeR 3
(C) tuw Tafeet sew faeeA (D) 3T ¥ HIg Tl
What is Distributed Denial of Service (DDoS) attack?

(A) A computer game (B) A cyber attack
(C) A millitary attack system (D) None of these
NavIC & Fd HH & :

(A) ey faeRe T=tvAd Foid
(B) i forg shea wiioem

(©) 3fied g s T

(D) e for ez Hremaem

Full form of NavIC is :

(A) Navigation without International Control
(B) Navigation with Indian Constellation
(C) Navigation with Indian Coastal

(D) Navigation with Indian Cooperation

[48]
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71.

G WS (FM) Yedht dom % i § 70 vt @32

(A) I TISRRA %t smgfa Yo omm SRR (AM) @ %9 S ¥
(B) 99 M it ey T e

(C) T siferhr wefer amfegin & frn on

(D) ==l Ssfagy emm wrepvm @ wum g &

What is not true about FM (Frequency Modulation) radio waves?

(A) Frequency range of Frequency Modulation is lower than that of Amplitude
Modulation

(B) Amplitude and phase do not change in it
(C) It was invented by Edwin Armstrong
(D) Its bandwidth is higher than that of Amplitude Modulation

72. SEAN-2 IREE F ey ¥ o o Y7

(A) 3HH! Eipfa gumeEst e fdg 3 G off

(B) 399 99 7T UK 1 H TAH Al |

(C) 39 ANEA ¥ 9= & ST @ &1 o & o @fera fovam
(D) =9 fEm § faswkw et &1 swma fean

What is not true about Chandrayaan-2 Mission?

(A) It was approved by Prime Minister Manmohan Singh

(B) Rover sent in this mission was named Pragyan

(C) In this mission Lunar North Pole was targetted for exploration

(D) Vikram Lander was used in this mission

g F1 @ 9 ATl Hifggies 9 h YAE SIS W A fha g € 2

73.
‘ (A) 1 ml (B) 2 ml
(©) 0.5 ml (D) 1.5 ml
What is the volume of each dose of Covishield Vaccine given to adults?
A) 1 ml () Zml
(© 0.5 ml (D) 1.5 ml
= [49] CQRP -




74.

75S.

7= § ¥ SF-m/sh-2 dt 3/87

() TERAH TS 1 AW AW W TeEr & A WG

(1) ﬂﬁmluﬁfmmwwmxaﬁmﬁ@#mmﬁa

(iii) $€ﬁ‘§&{ﬂ3ﬁ5ﬂﬁﬁﬂ”ﬁﬁ?mﬁ3ﬁﬁr$ﬁﬁﬁmﬁ
(B) (i) ¥ (if)
(D) e (J)

(A) (), (if) 3R (i)
(©) (@) ¥R (i)
What is/are correct among the following?

(/) Galwan river was named after Ghulam Rassul Galwan

(i) Ghulam Rassul Galwan was a Laddakhi explorer

(iif) He wrote a book in English named ‘Servants of Sahibs’

(A) (i), (if) and (iii) (B) () and (i)

(C) (i) and (iii) (D) Only (i)

RE SR T H WHR Y qRd H T wge forwred iR faemfaa w0 % e wmE
A R TR fHa1 § 1 38 el fasfaa feean smom ?

(A) I, afHeg

(B) F[, T

(C) TIeTR, HeNIt

(D) e, o

Governments of India and Portugal have signed a memorandum of understanding
to develop a National Maritime Heritage Complex in India. This will be developed

where?

(A) Chennai, Tamil Nadu
(B) Kannur, Kerala

(C) Palghar, Maharashtra

(D) Lothal, Gujarat
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76. % S o T % et F o et 2

71.

(A) R & fau sifimam 35w 65 a4 &

(B) =% W% 3t wiw #fidt o wrh owag a

(C) T’ an sfmew wiwg w1 sy o &

(D) =% an dem wfify w1 e B

What is not true in reference to Chief of Defence Staff?

(A) Maximum age limit for this post is 65 years

(B) He is permanent Chairman of Chief of Staff Committee

(C) He is Chairman of Defence Acquisition Council

(D) He is member of Defence Planning Committee

et el it g e faen ¥

() i fase 1800 ¥ 1805 ¥ H gem

(i) TN fasie @1 g e 7 fea

(iif) AR 1 fasie w1 Aga g o 7 fan

(iv) YHwE, St 99 &% fyar 9

IR § F PHA-F/FBA-] FUT FE /8 ?

(A) (), (i) 3T (i) (B) (), (if) 3 (iv)
(©) () 3R (i) (D) %3 (i)

Read the following statements and choose the correct option :
(i) Ganjam Revolt occurred during AD 1800 to 1805

(i) Ganjam Revolt was led by Dhananjay

(iii) Revolt of Gumsur was led by Shrikar Bhanja

(iv) Dhananjay was father of Shrikar Bhanja

Which of the above statements is/are true?

(A) (i), (i) and (ifi) (B) (i), (if) and (iv)
(C) (i) and (ii) (D) Only (¥)
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78. WA WRwg sifufem (1861) %Wﬂﬁﬁﬂmﬁﬁmwmﬁﬁ:
R e T em———— 8 B e b U A

T

(i) fafu fmfo & fau sffeq weell @ €@ HH-V-FF 6 iR rfues-|-atfus
12 G W

(iii) mwwmﬁ%ﬁmmﬁam?ﬁww

SR ¥ ¥ FH-F/HH-Q woe T& RR ?

(A) (), (i) 3R (i)

(B) (if) 3R (iii)

(©) () 3 (iii)

(D) Fad (i)

Read the following statements with reference to the Indian Councils Act (1861) and

choose the correct option :

() As aresult of this Act, total members of Executive Council of Governor General

became 7

(i) For legislative work, number of additional members could be minimum of
6 and maximum of 12

(#ii) No differentiation was made between State and Central subjects

Which of the above statements is/are true?

(A) (), (i) and (iii)

(B) (ii) and (iii)

(C) (i) and (ifi)

(D) Only (i)
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79. SR WRES stfufre, 1892 % Wy § et @l W Yo we fames 9 ¢
() ¥ 20 v, 1892 ® W faan man ‘ |
() FW 24 Fewh 4 ¥ v wel @ den s b9
(i) W& A [ ww g F R e
SRR F ¥ P/ FR-Y B w2/
(A) @, (i) 3R (i)
B) () R (i)
(€) (i) 3R (iii)
(D) a4 (ii)
Read the following statements With respect to the Indian Councils Act, 1892 and
choose the correct option :
() It was implemented on 20th June, 1892
(ii) Out of total 24 members, 5 'were non-government members
(iii) Members were given rights to ask'supplementary questions

Which of the above statements is/are true?

(A) (i), (ii) and (#ii)
(B) (i) and (i)
(C) (i) and (iii)

(D) Only (i)
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80.

81.

= ol A vt wet fawew @ A W |
' e +ffg. 3fder™ &
FHeA- ;X S e Y i SRR F TS R e
w fad ypfifes G WA QAR TR
' anfhad, IR,
weA-11 :Wﬁmwmﬁmwmaﬁ ’

mammgnﬁﬁmﬁﬁmm%

(A) FYA-1 T FA-11 T T 8

(B) wuA-1 Td weH-11 IFI 38 §
(C) wu7-1 §9 € Wy HY-11 39 ¥
(D) FF-1 WA T g HUA-11 §F

Read the following statements and choose the correct option :

Statement-I J. D. Dana prepared a special Geological Time Scale to indicate

the geological history of Indian subcontinent rocks

Statement-I1 As per Geological Time Scale, Indian rocks are subdivided into

Archean, Puranic, Dravidian and Aryan periods

(A) Statement-I and Statement-II both are true
(B) Statement-I and Statement-II both are false
(C) Statement-I is true but Statement-II is false

(D) Statement-I is false but Statement-II is true

feq T 7l & WEl wrerhAES W OFH, S EEE [l R, 9% S99 Ueel 7w
(A) TG > WA > @EfET > qEifed > st

(B) EIfEA > AEAIfaT > WEIfgd > ©RATEA > gieifaq

(C) g > ArifET > wrAifed > @i > Bieifgs

(D) BAIET > @RI > @RifaT > wEife > 6

Choose the correct chronological order of given Epochs, oldest one will come first :
(A) Holocene > Pleistocene > Pliocene > Miocene > Eocene

(B) Eocene > Miocene > Pliocene > Pleistocene > Holocene

(C) Eocene > Miocene > Pleistocene > Pliocene > Holocene

(D) Holocene > Pliocene > Pleistocene > Miocene > Eocene

sl
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(A)
(B)
(©)
(D)

e R o
@ T F1s Samey g
erenferes
TIreTge urds
TR e
(a) (b)
(@) (id)
(i) (iii)
(iti) (iv)
(iid) (ii)

KK
(i) er@Ton
(i) feciorg
(i) foeferraectt
) fowit
(c) (d)
(iii) (iv)
(id) ()
(id) ()
(iv) (@) i

Match the following geological heritage sites with their locations :

Geological Heritage Sites

Locations

(a) National Fossil Wood Park /(i)  Buldhana
(b) Shivalik Park (i) Chittaurgarh
(¢) Stromatolite Park (iii) - Tiruchirappalli
(d) Lonar Lake (iv) S_irmaur
(a) ) © (d)
@ O (if) (iii) (v)
(B) (iv) (#ii) (i) 0)
(®) (iii) (iv) (i) ()
(D) (i) (i) (iv) (@)
B [55] CQRP -



83. =1 wei ¥ omuR W wE fawed w1 T B

84.

i .. Hess 7 far
FUTI ;@ faedfE (Plate Tectonics) 1 fagrd 1967 # H. H o

HF-II @zﬁaﬁﬁaﬁfa@awmﬁmﬂmmﬂaﬂ“‘ﬁ“%

(A) w¥F-1 wd weA-11 o 9 §

(B) wyA-1 W wyA-1I Y 379 ©

(C) =uF-1 T & W FHuA-1I 316 B |
(D) FUA-1 3T § g HYA-11 §F \
Based on following statements choose the correct option :

Statement-I : Theory of Plate Tectonics was given by H. H. Hess in 1967

Statement-II : Theory of Plate Tectonics is based on Theory of Seafloor Spreading

(A) Statement-I and Statement-II both are true
(B) Statement-I and Statement-II both are false
(C) Statement-I is true but Statement-II is false

(D) Statement-I is false but Statement-II is true

frafafaa feadt & S9! @@ & ¥ed %H | "l
(A) faemd > oo > dAmrAt > 9 R > i g
(B) feer > %7 g1 > fe® > G > a1 R
(C) feomt > et > i g1 > FHWH > SR Rt
(D) faem® > fewr > s R > WAOE > % g

Arrange the following glaciers in decreasing order of their lengths :
(A) Biafo > Hispar > Sonapani > Bara Shigri > Drang Drung

(B) Hispar > Drang Drung > Biafo > Sonapani > Bara Shigri

(C) Hispar > Biafo > Drang Drung > Sonapani > Bara Shigri

(D) Biafo = Hispar > Bara Shigri > Sonapani > Drang Drung
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83: T 9t o5t fafifa o2 il %t gon ¥ omuR W wed wH § WET
(A) TR > TSR > o > A > S T
(B) TW@ > #en Ry > (ord > o1y WW > AT
(C©) T@ > Heq Wy > ToRaM > A > Y TR
(D) A WV > TORM > IANA > ToRGE > Y W,

Arrange the following States in descending order with respect to number of large

dams constructed there :
(A) Madhya Pradesh > Gujarat > Rajasthan > Telangana > Andhra Pradesh
(B) Gujarat > Madhya Pradesh > Rajasthan > Andhra Pradesh > Telangana
(C) Gujarat > Madhya Pradesh > Rajasthan > Telangana > Andhra Pradesh
(D) Madhya Pradesh > Gujarat > Telangana > Rajasthan > Andhra Pradesh.
86. 9TA.TEEH. COP26 sifvdwm 4 wid g1 & T w3 wed H W W € 2
(A) WRE 2030 TF HET SO § T faferdd I qh hi HH BTN
(B) TR 2030 T ST Tl e W 60 Whwd it e S W S
(C) wIRd 2030 ek ST R-SHH Fel &1 Sl 500 TTETE G Sel o
(D) ST & | HE Tl
What is not true about commitment made by India at UNFCC COP26 Conference?
(A) By 2030, India will reduce its carbon emission by one billion tons
(B) By 2030, India will meet 60% of its total energy requirement by renewable
energy

(C) By 2030, India will increase its non-fossil energy capacity to 500 gigawatts

(D) None of the above

[57] CQRP- 1
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87. Trotafan w1 T an 3 T gifa TR Rl 3 T 2021 TR

ERIKICIE
eI -1
(a) Gsia wgeaeam™ (i) when
(b) gem SR (ii) it A (s STha)
() qoiarEt s | (i) wifec we faen
(@) fssirar wshad (iv) @ e

(@) (b) 9 @
@ O @ @ W
(B) @y () (¥ (i)
©) ®) (iii) (v) (i)
(D) (iii) (?) () (i)
Match the following personalities with their fields in which they have been awarded
Padma Shri-2021 :

List-I . List-1I

(@) Sujit Chattopadhyay () Art

(b) Tsultrim Chonjor (i) Public Affairs

(c) Purnamasi Jani (#ii)  Literature and Education
(d) Bijoya Chakravarty (iv) Social Work

(a) () (c) (d)
(A) (@) (i) (iii) (v)
(B) (iii) (iv) (i) (ii)
(® (?) (iii) (iv) (if)
(D) (i) (i) (iv) (ii)

|
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88.

89.

90.

‘mwwi?q'ﬁwﬁﬁmmﬁm%?

(A) KL (B) =

©) foerew (D) ¥

‘Fair and Remunerative Price’ is related to which of the following crops?
(A) Sugarcane (B) Paddy

(C) Oilseeds (D) Wheat

" AT EHE (WPL) 9 wor F faffiba seare 1 Tewt (s H) foree 22

(A) 62.43% (B) 64.23%

(C) 63.43% _, (D) 60.23%

What is the weightage (in percent) of ‘manufactured products in calculation of
Wholesale Price Index (WPI)?

(A) 62.43% o 0(B) 64.23%

(C) 63.43% (D) 60.23%

SR g1 A (IMF) & s1Ra v fofiy smmetw sfusr wfoe w6 S &1 wfowm s
foram &2

(A) 2.75%, 2.63%

(B) 2.63%, 2.75%

(C) 2.36%, 2.75%

(D) 2.36%, 2.57%

What are the special drawing rights percentage and vote percentage respectively of
India in International Monetary Fund (IMF)?

(A) 2.75%, 2.63%

(B) 2.63%, 2.75%

(C) 2.36%, 2.75%

(D) 2.36%, 2.57%

@i

[59] CQRP- 1



91, anfdfew wdemu 2020‘21%3138Rﬁ1={‘(1®1f5ﬁ g‘ﬂyqﬁ:h% e X EEd R o
SELE
(A) TSRE > Hed R > dere > g
(B) T WRW > TEWW > WA > . FAM
(C) oW > YT > HEA Waw > | FAw

(D) T We¥ > eRE > i > g

As per Economic Survey 2020-21, arrange the: following ' States 11 decreasing order

of milk production :

(A) Gujarat > Madhya Pradesh > Punjab > Haryana \
(B) Madhya Pradesh > Gujarat > Punjab >-Haryana - . : ’ |
© AGujarat > Punjab > Madhya Pradesh > Haryana '@ = %
(D) Madhya Pradesh > Gujarat > 'Haryana > Punjab |

92. m%mﬁﬁwuﬁﬂﬁ%? 1
(A) T (Virus) T T <9 WERERE T, gs, asifee w1 R gy
(B) =RE @1 i T A RNA se@l DNA ST &1 wehar ©
(C) DNA s o sifvsriem: fima 9% dm & .
(D) RNA @muifi@ oPR® DNA Hd aoE #f g # ofus  oigale
afet (FR) W E | |
What is not true about virus?

~ (A) Virus term was coined by Dutch microbiologist M. W. Beijerinck
(B) Nucleic acid genome of virus can be DNA or RNA-based
(C) DNA-based viruses are usually single-stranded
(D) RNA-based viruses accumulate more genetic changes (mutations) as compared
to DNA-based viruses
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93.

F ST (2015-16) % Wi % wm-a/=d & /¥
() i
¢ WW@WW%WW%.zW%ﬂqfﬁé%qm47.3wﬁrﬂaw

ﬁ(mmmm)%m%
) Wmﬁgﬁrﬁ@r#mmﬁm?ﬁﬁwm%
(i) TR G SR T iy et ¥ R R o™ S e W
(A)(O,(ﬁ)ah(ﬁé »
(B) () 3R (iii)
©) () 3R @ii)
(D) w=@ (i)

What is/are true in reference to Agriculture Census (2015-16)?

(/) Small and marginal farmers are 86.2% of total farmers whereas they hold only

47.3% of farm land (out of total farm land)

(ii) Statewise, based on total number of farmers, Maharashtra is at third position

(iii) Statewise, based on total farmed land area, Rajasthan is at first position

(A) (i), (i) and (iii)
B) (@) and (iii)
(C) (i) and (i)

(D) Only (?)

|
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94. Pt & 3 firt wRferfedl & g 2§ R GE T S

siEe % I F dw

T it 2

() FR H AET TR |

(i) TR A $O FEA SEsieEEe T oliF T W

(iif) F=R F A< T F @@ qgH 4

(V) T ¥ o A fon aqem f sl wE SsES fE Se W

(A) (i) 3R (iii)

B) (i) 3R (v)

©) (i) 3R (i)

D) () ¥R (i)

In which of the following' conditions distance between molecules of carbon dioxide

filled in a container may increase?
() On increasing the volume of container

() On leakage of some carbon Qioxide gas from the container

(7)) On increasing air pressure in the container

(iv) On adding more carbon dioxide gas in container without changing its size
(A) (i) and (iii)

(B) (iii) and (iv)

(C) (i) and (iii)

(D) (i) and (i)
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95.

%ﬂ"ft‘q'ﬁa"maﬁ

‘ S 4 k ' w0
" : Hzaﬂtmﬁwﬁﬁssﬁ.%,aiaz3ﬁcﬁ.§ﬂm
(A) 21.4 Yo

B) 2.14 Y%ve
©) 124 Jwug ED)) ?;@mg

A sound way
¢ has frequency of 4 kHz and its wavelength is 35 ¢cm, then how much

time will it take to travel a distance of 3

) 2 km?
1.4
A sec (B) 2.14 sec
12
(€) 124 sec (D) 1.24 sec

96. W%ﬁ@a%wﬁﬁaﬁq-m/aﬁa—ﬁww%ﬁ?

() U o1 F T ww e o A e § Rrdfea g d

(i) SHSA & s1wm ¥ wede dfes e F w9 4 wRark o d

(i) SIS 6 srqufeafs ¥ Tede wed srsiaEe ok s & w9 3 wRafi
Tl §

(A) (i), (i) 3R (iii)

(B) (i) ¥R (iii)

(C) (i) AR (iii)

(D) e (iii)

Which of the following statements is/are true in reference to break-down of glucose?

() In cytoplasm, glucose breaks down into pyruvate which has four carbon

molecules ’
(i) Due to lack of oxygen, pyruvate gets converted to lactic acid
(iii) In absence of oxygen, pyruvate gets converted to carbon dioxide and ethanol
(A) (i), (ii) and (iii)
(B) () and (iil)
(C) (ii) and (iii)
(D) Only (iii)

“l
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97.

98.

99.

(©) () 3R i)

SEAEIR W@Eﬁﬁwﬁ%wﬁﬁﬁﬂ—m/ﬁ—ﬁﬂﬁ%@?
0 Sﬂﬁmaﬂiqﬁnaﬁmaﬁwﬁ%

(i) seafR § 18 qun @iefi # 15 TEC § |
(ﬁD‘@FﬁﬁiEmﬁWaﬁﬁmTﬁﬁmmaa:ﬁmzuﬁm;%

(A) (i), (i) 3R (iii) (B) (i) AR (iif)
(D) whae (i)

and Khandagiri caves?

What is/are correct in reference to' Udayagiri
(i) It has both natural and artificial caves
(i) Udayagiri has 18 and Khandagiri has 15 caves :
(iif) Khandagiri caves are famous for Héthigumpha inscription
(A) (), (@) and (iii) (B) (i) ‘and (iii)

(C) () and (i) o =+(D) Only (9

“fagfeT' & wfaa =H § 2
(A) T (B) TGS
(C) gy (D) S
Who is the author of ‘Visuddhimagga’?
(A) Nagarjuna

(C) Vasubandhu

"THER =k’ ARl YRR & Gy H 1 WY R 2

(A) & TR fopdt =l o1 QU Slerea o ool T a) & fear <1 9w ©
(B) 6% Weh W ‘TR a9’ H AR Whpfa sifha B &

(C) 31 fegwmr, 2021aazs?ﬁvﬁaﬁqmaﬁxwmmmw%

(D) 39 TEHR I 26 e, 1952 ! Tifd faman

(B) Padmasambhav
(D) Buddhaghosa

What is true about gallantry award ‘Param Vir Chakra’?

(A) This award can be given to an individual only once 'in his/her lifetime
(B) On its medal, four replicas of ‘Indra Vajra’ are embossed

(C) Till 31st December, 2021, 25 people have been awarded with Param Vir Chakra
D) T his award was instituted on 26th January, 1952

et

e carP-






